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o Aj( J) T ccx))

dy x L = DseeXbonx + C1) In(sec x)

axX | .Sy:/x

dy » L = xtanx -l')nCSccx)
ax J

dy = y( % EBanx + lsecx)
A

Ay = Csec 2)* (4 tan x + In (sec x.))
AX |
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F(x) = 2% sinx iF x e o)

1k yz= 2% sinx

lh(ﬂ) in (2% sin )

i) =1n(2%) + In(sin %)

Inly) < xln(l} + In CSm%)
dx[in(_‘p) = = (% In(D + In(s5inx))
’_ﬂ_ ()n(_g)) = é..__ x In(2) +1in CSH‘)%))
X o\j | AX |
___':l _L) In(2D) + cosx

5"'”,%, . o
, E\ﬁ = 9 In(2) + Co(-:;c) o
A% |
dy = 2%sinx ( Inc2) +cok(a))
ax

So FI() = 2% sinx (In(D Tcob(x))

b) At the stationary point -,
Soe ©0= 2% ginx Ch’\C.’D -[—-coECXB)

€ither 2%Sinx% =0 or In(2) fcob(x) = 0
IN(2%sinxk) =n(0)  cok(x)=—In(2)
,1; - Lam(?c)- ~'T\Lfl.)
No solubion . ilk x= kan”
| ‘ T C lnCz)
x= ~0.9b rad

or x = 2.1% rad ko lo\.ﬁ
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fFCx) = 3% defmeA on (he Aomain (0, T

SinX

Let y= ¥

M(q) = ('XSW()

In ('~D Sm(?(ﬁ In (%)

E ] 2 = [ sin(0n(xd

g\ﬂxéérln@)‘ = & [ sinlx)in(x) |

AX My X

. p
Ay L= smcx)fi\+ ws(x) n(x)

ax Y

Ay ~ w/Sm(af\ + Cosf»’t\) n('f't)\

Mmoo X

¥y = X 5"‘,"/ Sinlx) + cosc @'ln(;ﬂ\

A L x

f (vﬂ = XTT[ Sin(e) + st In(x))

X

s

b)

At Che thhonam point, 3% =0

So O g 5#"‘/ Sl +cosC) hn ()

X

Either X% =0 or Sinle) t+cosDIn(x) = O

st inlx)=nlo)  x

No So\ubionn, W.s\'rn(k\'; —cosCx‘)in(x\'

x

V‘;\ 7 | 5”\(%3 = —?C(.O,S(?Cwlﬂ(’(\

S5in(x) + xcos(@In(x) = 0

when ¢ =035, Sva (%) £ % o5 In () = —0:0022.5 -

When x = 0. 36 sin(x) + %xcos(xD\n(x) - 0.00805 -

The c\ange af S@n_indscakes (he X—coevdinate dqc' ﬂuQ
5(,abana\fj poing lies be\fween 0.35 and. 0:3(
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fe)= CEan X)™°% o x e (0, T

Leb 4y = ( tan %)™
Inty) = in(C’-'W\X)tmx)

)“(-3) l:am X In (Ean x)

Ax U"(ﬂ))— ax (twf\ X ln (I:om X})

day, o\,/ln(ﬂ\ = ban'x ‘/' “536 X ’“Ct"‘“ 74)

ax sy " ) (LW

ay / 1\ = sec*x + sec?x In(tan x)

ax\y/)

dy - jseczxu T MCtN\?gﬁ

ax._

dy oz Ceanx) ¥ sete (L rinteanad)

Fl) = Cbanx )% sec?x () + Inltanxd)

® o

56 thak q (x) = Cton x) tan?f sec? X“

At the Stobionary point , 3= 0. |

So Oz= (Ckan x)ta“xsecz?é (l kln(tow\k3>

Ether (banx)®"sx?x =0 or | +in(tonx) =0

-

| J\r lnctamﬂ = *\ B

Evther CEN\’C3 or SQEZX:O  konx=
\v(U:am(D ‘n( 7 c?%Lifr:O . xz Ean "C “3/' i‘

] L -cos’x  x= 035 o 2dp
No solubion T
N R
N Saluh'ofL

@ makhomates o jcam |
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| $e)= (sin)®

5-:. Csm x)x
lnL:D.. \n((sm'@")
\n[\ € in (sm x)

| AX (\"\i:Dj = Ax (76 lV\(Sm x\)

ég_,___{m 3> x n(s\ma) + in(sinx) do (x)
AX Y - &

é_ix_,-'x__sgg) +$n(.5w\x3

A?C j 7 Sm(k.)
X cos(x) + In Csm ?c\
Scn(?a
_‘Z\,‘L: Csin XYF ( ?c_C.gs_Cj:_} + \n (sm )
AX sinlx) ) o
Fe\\j 15 (x) = (,S\nxj’c x cosCxD + \n(sm x\> -

sm(ae)

| f-e.\ boA, jﬁ?& x Loshﬁ - IV\(NY\Xj

Sin (XD

| .) 3 (0-0) = 01 x cos(ot) +in(sinCo )

Sin (O1)
:’—\ 307 56’ TETS
| 3CD = L xcoscD + in (Sm Cl\)
SinCh)
= 0 b TEEETF
3(1.6) = LbxcosChb) +in (sin(1-6))
Sin(l.6)

' '@mﬂm&eg o - wwwmalfemds fcom |

= -0.0%7FIb56530)



) Moxe CSm:t\ jr\ bosﬂnﬁ foufﬂ’\ CO;Z}F‘ ) t
i Felly my ﬁo\o\ Csin )™ yn \oos\\:sﬁ ar Y rav{m CO, Z) |
| ByMoanwgdd FUglxd ary t’w’k‘/\ (0,2) yn dibganu

- Ay owvvid& Cx) ond mejwc/t‘noeeio\. gco- ) IKIL
o - 3(_\ D yn o\anaos boA. 3(?63 RAAN ncwﬁ\ O\VVQicch
Co \eu:.é\ &Wﬂwouf’/\ gn Yy loo.vﬂf\ CB(?—) -
7 Fe,\\j m\ b‘:}\c\_ (o le\tLF) L wevldnh av aqﬁer f: Ck) -
. v g parth (0,2) bie fodl ) = 3
Fcl\g mae gon ,FC)c)Co 12\0:{) & bwun‘:’ aYhOSO%
. |ar g parih (0;2).
[ Brestun efo cyfeiformell guaffigh:
- (@) mafhemalkeg I  wew mathemakey com
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6‘) Crc\—c)\-i«wo\h s ki\, = D\- * céf\.z\\,(\h/\t%«v\ v
Fesian kN»ki\) = ik
| dan = L
o a
M = 'k
.8 :

v

CH IR 327() e B s 24 @wW e \o\w-/,\\jvxk

Pova s L

ACx) = AT -0

P, 0% =8

lm‘)\%

37 = 3

§ A e

e
o, = )veow/ 9—*\
Y e/

& 1.53 CLW%LQ
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sd 4 =1t = 7%
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= bk = X = 1 &
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AL
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